T 2 64 9 A MEFHEROBE
(2 HEETHS 6 5)

1 MEFHEROME
AREOFIETHEIZ, BEE=F—ICL2ETABER EOEMICLE DR, PIK (S35 |
BT LOA =TT = 2B HMIEEAT O AN E RO, EE AR SHLSIEITER D
TEEN N 5 B AL B R 8 5 25 M OSE BN A [ b5 S L b el T AR AR @ % it
Bl HERORECEAEE R IC K THMIE L L CTHUISEALEE SRS & 0B, 2T o R ERE - HE
Y H =TI U CHRRIE R & 266§ 2 iRt IR Bl 2B S 2 IR D . REASFOH AR
TEEZATHORSTFRIIR T v o =7 MR, Z2Mry NU—27 B a7 s oT 0 OHEEICH
ST EALE B O IR DR . ERAITEHE D ORER 2 RT3 D08 Rl 7 L
O E . ko 3L X —BE K MRREMIE-S < Y 2HEET 5 720 O FEL AT REME A 2
giﬁu—yfﬁy-N—b%~Vyf$¥%KowT\ﬁ%ﬁ%%%ﬁ%%fé%@@%@i
2 RSFHFE OB
(1) #HIERT T E%E 80,012,927 TH
(2) #iiE%E (356 75) 1,093,244 FH
(3) WiE% TH%E 81,106,171 TH
kL2 DA IE B 1A
BEHAMITAOMIE IR 1
B & DA IE AL URCRd
3 MEFE6HFONE
(A7 - TH)
1 1E N w GRIEH] | B Y 58 | F £ & | (—BRWR
1 SLATFEAE - FA - KBRFEZEBIN[2. 1. 4] 1TBURR B 1, 500 (1, 500)
2 A —T T —FREMEEIE2. 1. 4] 1TBURR B 5,994 (2, 494)
3 EENAR L RS L
(1) FEHEAFE K FH LT ER EEHEFERH10. 6. 2] Sl K= IRHR 7, 000 (3, 500)
(2) FEENAREFS AL S T I ARREIER & Sl A A SR 10, 000 (10, 000)
SEHEFER10. 6. 2]
4 Mg Ak SRR LB N (3. 1. 1] fEAEE R AR 358, 814| (358, 814)
5 kg R E e E R EFEEBIM(S. 2. 4] T-H TR 6, 266| (A15, 249)
6 BUTFHIRT 2y =27
(D) BESFHIR 7 v = 7 N ¥EBTFERT. 1. 2] PEEB KGR 1, 800 (1, 800)
Q) BESFHIIRIEAZ [7. 2. 2] ZN [ ok R 2, 880 (2, 880)
7 SHEIEALEER E (S, 4. 2] A THBUR R 11, 300 (6, 300)
8 i BPHT ik M L FTE ARG 2E (8. 4. 5] AT R 993 (993)
9 JU—TFT v e R—=hF— v THEH[8.4.7] A | 9, 952 (0)




(Hhr - M)

oo IE H 7 R HED | 10 6] | F ¥ & | (R
10 % DAt
(D HL[E 27 7 v FEAFEEEBEM2. 1. 1] Wy 27 hik 27, 332 (6, 940)
(2) BB L A FE N A N (2. 1. 3] S BUR R 358, 814| (358, 814)
Q) R = HAE - I FEEE M4 (2. 1. 4] ITEORE = 3R 1, 500 (0)
(4) E R X H A %iRIES 2. 1. 12] [ PR A4 g 1, 181 (1, 181)
(5) SLATT Rz E A (2. 4. 3] wemaznzsnn] A0, 912 (A10,912)
(6) HEHFBF YT AT LUIEEHZ RS, 2. 1] FHETHER 1,512 (1,512)
(7) TRAEERE S 348N [4. 1. 2] IS < HEERR 71,870 (79, 070)
®)RLAT I F o EfEEEEEHBM4. 1. 2] BERES < 0 Heten 4,925 (4, 925)
(9) & L APTiRmr s B 25kt (S < 0 HEER 7,826 (0)
(10) BB TR ERE Y 7 F L Hefi E 5 Z 308 4. 1. 2] BHES < 0 HEERR 19,013| (19, 013)
(11) Z IS RE A A A 3B 6. 1. 6] SRR R 515 (0)
(12) B e e B 9 (7. 1. 6] BOCBORR 6, 447 (5, 713)
(13) 43 75 L WY B e fi S 2580 [8. 4. 5] B 50, 524 (0)
(14) 222 A FEN 4B N [10. 1. 2] BEORH 1,713 (0)
(15) SLRUNFRAZ S - BNEBI gL F3E8N[10. 2. 3] FRAR R 48,846|  (13,142)
(16) ER /N Ay « RN IEEN L F A [ 10. 2. 3] R AS R A62 (1, 620)
(17) At = L 238 [10. 3. 3] FRCAR R 69, 551| (A7, 884)
(18) [HVEER AL FA B o & — PR VB fi 5% fR AR T3 [10. 6. 4| S5t Rt 16, 150 (16, 150)
11 AR

(1) HESTAL3 3556 2 YRR 2 K& R 2 (4. 2. 2] BRESE BRI AR (1, 441)
(2) b A TR FEZE6. 1. 3] DA TR MIRFRE (A2, 400)
(3) /et R b F2E [10. 2. 3] TR | MTRFREE| (A31, 000)
(4) =R/ Ve S degE 434 10. 2. 3] TRAREEE [ MR (A2,000)
& # | 1,093,244| 828,357

v \/El\ b“@‘%
WSS B BORRE
[E18 : 35-1110
3% : 35-1111 HHR915




